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 :

Max UT = F(X, Y) 

S/C: R = XPx + YPy 

:

: 

 : λ , y, x 

 : │Δ│>0

 

dL =0   

 
 
 

 
 
𝝏𝑳 𝑿.𝒀. 𝝀 

𝝏𝑿
= 𝟎 𝑼𝑴𝒙 − 𝝀𝑷𝒙 = 𝟎……… .

𝝏𝑳 𝑿.𝒀. 𝝀 

𝝏𝒀
= 𝟎 𝑼𝑴𝒚 − 𝝀𝑷𝒚 = 𝟎……… . .

𝝏𝑳 𝑿. 𝒀. 𝝀 

𝝏𝝀
= 𝟎  𝑹 − 𝑷𝒙 . 𝑿 − 𝑷𝒚. 𝒀………

  

 
λ = 𝑈𝑀𝑥/𝑃𝑥
λ = UMy/Py

 

UMx/Px =UMy/Py 

 
𝑼𝑴𝒙/𝑷𝒙 = 𝑼𝑴𝒚/𝑷𝒚
𝑹 = 𝑷𝒙 𝑿 + 𝑷𝒚 𝑿

  

01

UT =X . Y ،100 = 5 X + 2Y. 
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- 

L = F(X, Y) + λ (R - XPx – Ypy)  

L = X . Y + λ (100 - 5 X – 2 Y) 

: - : λ , y, x

∂ L / ∂ x = 0y – 5 λ = 0 …………...(1) y = 5 λ 

∂ L / ∂ y = 0x – 2 λ = 0 …………...(2) x = 2 λ 

∂ L / ∂ λ = 0100 – 5 x – 2 y = 0 …..(3) 

(1)(2) :

λ = Y/5 = X/2 

Y/5 = X/2 Y = 5X / 2 

Y (3) :

100 – 5 X – 2 (5 X / 2) = 0 

100 – 10 X = 0 

X = 10 

Y = 5X / 2 = 5 ( 10 ) / 2Y = 25 

(X = 10, 

Y = 25)  :250UT = 10 (25) = 

 :ملاحظة

: λ) 

(. 

 = 5λ = Y/5 = X/2 = 25/5 = 10/2وم

1courbe –consommation-revenu
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2 )( 

)(: 

Slutsky  

- : l’effet de substitution (ES)  

 

- l’effet revenu ( ER) : 

)( 

.  

-)( l’Effet Total (ET)  =  + (ES).(ER) 

U= X.Y 

PX =40        PY = 80           R=2400 
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PX10 DA 
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dL=0 

 
 
 

 
 
𝜕𝑙
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= 0 𝜕𝐿𝜕𝑋 = 0𝑌 − 40𝜆 = 0                  

𝜕𝐿

𝜕𝑌
= 0 𝜕𝐿𝜕𝑌 = 0𝑋 − 80 = 0                     

𝜕𝐿

𝜕𝜆
= 0 𝜕𝐿𝜕𝜆 = 02400 − 40𝑋 − 80𝑌 = 0

  

 
𝑋 =
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= 2𝑌

𝑌 =
40𝑋

80
= 1/2𝑋

  

2400=40(2Y)=1/2X 

Ya =15        X =2Y        Xa = 30       U1 = 450 
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XCYC

U= X.Y 

2400=10X +80Y 

L( X.Y.𝜆)= X.Y +𝜆(2400-10X-80Y) 

dL=0 

 
 
 

 
 
𝜕𝐿

𝜕𝑋
= 0𝜕𝐿𝜕𝑋 = 0 𝑌 − 10𝜆 = 0                  

𝜕𝐿

𝜕𝑌
= 0𝜕𝐿𝜕𝑌 = 0 𝑋 − 80𝜆 = 0                  

𝜕𝐿

𝜕𝜆
= 0𝜕𝐿𝜕𝜆 = 0 2400 − 10𝑋 − 80𝜆 = 0

  

X=8Y 

2400=10(8Y ) +80Y     YC=15      XC =120 

 
𝐗𝐜 − 𝐗𝐚 = 120 − 30 = 90
𝐘𝐜 − 𝐘𝐚 = 15 − 25 = 0

  

B

PX/PY)- 

TMSX.Y =dY /dX = - PX /PYBU1 =450

B

dY/dX = 

-PX' /PY 

X.Y = U1→ X.Y =45 →Y=450/X 
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dY/dX = -450 /X
2
 =-PX' /PY =-10 /80  

X
2
 =3600 

Xb = 60 

Xb  .Yb= 450 

Yb = 7.5 

 

ES= 
𝑿𝒃 − 𝑿𝒂 = 60 − 30 = 30
𝒀𝒃 − 𝒀𝒂 = 7.5 − 15 = −7.5

 

 
 

 


